SHTEE 1ADITEFTE IO ST A /N
B | TEFE HiE-siE HRE BE [1&F[2&E3F4F|5565| 8
1 [ [|=E
2 | % FERDKE
3 |a FERDKE
4 |
5| H
6|8 BETHEOEER
7 | e BER#E 00~ FERER12:00~BEEREO®
BETHEQELR
8 | 5k EmER -E RN 3[3]3]3[3]3[O
HEH B (K1) EHE 13:00
o | [RAEDD &R FIERR(~158) 5/5[6/6[6]6|O
FEADPTERSE 15:05 15:50
10| & | RERBH 53[53]6]6[6]6]O
~ |ALT 15:25 15:50
11| £
12| B
13| 8 RADB
F3EF O H1—I(~17H)
14| % Z820 B EHEEXR 53[5.3]5.3]|5.3[6.3[6.3] O
BB U ERE(~30H) HOEPTAZ &R 1830~ 15:05 15:50
15 |k | REH=® 5]l6[5[6l6]6]O
REHDPTEKSE 15:05] 15:50] 15:05 15:50
16 | o [PR#BRE @aBpG XR RAMEDD-1~9%) 5]/5]6[6][6]6]O
FEEADTHEKS665F RNENORBREE [PTARHHED19:00~ 15:05 15:50
17]e HEHGEDEE) RFENEQ(4~6%F) 53|53 6] 6]6]6]O
= |web A HFEYIE BAENOERTREE 15:25 15:50
18| &
19| H
20| B BRAESWHE~318) HETHEDEER 5[5 [53]53]53]53]O
15:05 15:25
N 53]5.3]53]53]6.3]63]O
21 )‘-%9—%#9*7-&%—%&@ 15:05 15:50
22*%’;%@1%@ 5/6[5[6[6]6]O
AR REEI(2- 4~ 65 £ +165 /)R IGOKER 15:05] 15:50] 15:05 15:50
23| % 5]/5]6[6][6]6]O
EEEH B TRES.64F 15:05 15:50
24| 2 Eh AFRAS (RES) 53[53[6]6[6]6]O
~|ALT 15:25 15:50
25| =
26 | B
27| B BAFHED 5[5 [53]53]53]53] O
15:05 15:25
28 | REATREF AR - VEDLYRINEDR 53]53][53]53]6.3]63]O
mERAFRAS (RES) 15:05 15:50
29 [ 7k 5/6[5][6[6]6]O
HEMTRALS.64 15:05] 15:50| 15:05 15:50
30| * NRTZHREEE 5/5]6[6]6]6]O
BHHIGER (FHMAE) R EEEBTERS 64 15:05 15:50
N PS NRTZHREREH 53[53[6]6[6]6[O
= |ALT 15:25 15:50
BEXEH(17H
#HEBH17H




